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Un	
  primer	
  comentario	
  

�  Esta	
  no	
  es	
  mi	
  área	
  
�  Los	
  comentarios	
  son	
  los	
  de	
  una	
  persona	
  que	
  mira	
  desde	
  
fuera.	
  

� Muchos	
  de	
  ellos	
  probablemente	
  sean	
  bien	
  conocidos	
  en	
  
la	
  literatura.	
  

�  	
  Aun	
  así	
  …	
  a	
  ello	
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El	
  marco	
  de	
  evaluación	
  

�  Cobb-­‐Douglas:	
  

�  CRS	
  entre	
  factores	
  privados:	
  

�  Y	
  el	
  residuo	
  de	
  Solow,	
  corregido	
  por	
  la	
  presencia	
  de	
  
capital	
  público	
  es:	
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El	
  marco	
  de	
  evaluación	
  

�  O	
  en	
  términos	
  de	
  crecimiento:	
  

�  Generalmente	
  los	
  economistas	
  neoclásicos	
  piensan	
  en	
  el	
  
término	
  Δa	
  como	
  el	
  crecimiento	
  de	
  bp	
  
¡  Por	
  tanto	
  se	
  atribuyen	
  a	
  factores	
  tecnológicos	
  lo	
  que	
  en	
  realidad	
  es	
  la	
  

contribución	
  del	
  capital	
  público	
  al	
  crecimiento	
  de	
  la	
  produccvidad	
  y	
  por	
  
tanto	
  al	
  crecimiento	
  a	
  largo	
  plazo.	
  

�  El	
  tamaño	
  de	
  la	
  elasccidad	
  del	
  producto	
  con	
  respecto	
  al	
  nivel	
  
de	
  capital	
  público	
  es	
  por	
  tanto	
  el	
  parámetro	
  fundamental	
  para	
  
evaluar	
  el	
  papel	
  de	
  las	
  infraestructuras.	
  	
  

�  Pero	
  …	
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�  Dos	
  debates	
  en	
  la	
  actualidad:	
  
1.  El	
  efecto	
  que	
  sobre	
  el	
  PIB	
  cene	
  una	
  expansión	
  fiscal	
  

÷  El	
  mulcplicador	
  tradicional	
  keynesiano	
  
2.  El	
  efecto	
  que	
  sobre	
  el	
  crecimiento	
  a	
  largo	
  plazo	
  cene	
  la	
  inversión	
  en	
  

infraestructuras,	
  por	
  ejemplo.	
  

�  El	
  primer	
  efecto	
  es	
  un	
  argumento	
  de	
  demanda:	
  
¡  La	
  inversión	
  en	
  infraestructuras	
  como	
  un	
  polícca	
  de	
  demanda	
  en	
  un	
  

entorno	
  de	
  demanda	
  privada	
  débil	
  
¡  Nada	
  cene	
  que	
  ver	
  con	
  produccvidad	
  
¡  La	
  propuesta	
  de	
  Keynes:	
  Abrir	
  y	
  cerrar	
  agujeros	
  

�  El	
  segundo	
  incide	
  en	
  el	
  efecto	
  que	
  la	
  inversión	
  en	
  capital	
  
público	
  cene	
  en	
  la	
  función	
  de	
  producción	
  del	
  sector	
  privado.	
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�  Pregunta:	
  
¡  Cuando	
  se	
  evalúa	
  la	
  oportunidad	
  de	
  nuevas	
  inversiones	
  en	
  capital	
  
público,	
  se	
  puede	
  discnguir	
  entre	
  un	
  efecto	
  y	
  otro?	
  

¡  Cuando	
  se	
  incluye	
  en	
  las	
  especificaciones	
  un	
  termino	
  que	
  mide	
  el	
  
grado	
  de	
  uclización	
  de	
  la	
  capacidad	
  instalada,	
  es	
  esta	
  una	
  forma	
  de	
  
controlar	
  por	
  el	
  primer	
  efecto?	
  
÷ Es	
  la	
  corrección	
  habitual	
  la	
  adecuada?	
  
÷ Una	
  formulación	
  alternacva:	
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�  En	
  este	
  caso	
  el	
  residuo	
  de	
  Solow:	
  	
  

	
  
�  Sesgos	
  en	
  la	
  escmación	
  de	
  	
  	
  	
  	
  	
  	
  pues	
  se	
  escma:	
  

�  como	
  consecuencia	
  de	
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�  Una	
  úlcma	
  pregunta:	
  
¡  En	
  el	
  caso	
  de	
  una	
  economía	
  con	
  beneficios	
  económicos,	
  quizás	
  por	
  
la	
  presencia	
  de	
  monopolios	
  de	
  concesión,	
  hay	
  un	
  sesgo	
  al	
  alza	
  en	
  la	
  
escmación	
  de	
  bp.	
  

¡  Cómo	
  afecta	
  a	
  la	
  escmación	
  de	
  	
  	
  	
  	
  	
  	
  la	
  presencia	
  de	
  monopolios?	
  
¡  Se	
  sobreescma	
  el	
  efecto	
  sobre	
  la	
  produccvidad	
  del	
  capital	
  privado?	
  
¡  Es	
  cuanctacvamente	
  importante?	
  	
  

s
G
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�  En	
  los	
  modelos	
  propuestos	
  el	
  capital	
  público,	
  G,	
  es	
  “todo”	
  
¡  Educación	
  pública,	
  salud,	
  capital	
  administracvo,	
  infraestructura,	
  …	
  

�  Los	
  modelos	
  no	
  incorporan	
  de	
  forma	
  específica	
  el	
  papel	
  
de	
  las	
  infraestructuras	
  en	
  el	
  desarrollo	
  económico	
  
¡  Hay	
  un	
  papel	
  específico	
  para	
  las	
  infraestructuras	
  en	
  los	
  modelos?	
  

�  Quizás	
  sea	
  posible	
  incrementar	
  el	
  poder	
  de	
  los	
  tests	
  
especificando	
  de	
  forma	
  más	
  precisa	
  cómo	
  entran	
  una	
  red	
  
de	
  trenes	
  de	
  alta	
  velocidad	
  en	
  la	
  función	
  de	
  producción:	
  
¡  Es	
  la	
  función	
  original	
  de	
  Solow	
  suficiente?	
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�  Una	
  de	
  las	
  caracterísccas	
  de	
  la	
  evolución	
  de	
  la	
  economía	
  
española	
  es	
  la	
  descentralización	
  del	
  gasto	
  en	
  
infraestructuras,	
  al	
  menos	
  como	
  porcentaje	
  del	
  gasto	
  
total.	
  

�  En	
  términos	
  de	
  la	
  inversión	
  bruta	
  real	
  en,	
  por	
  ejemplo,	
  
infraestructuras	
  viarias:	
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�  Problemas	
  de	
  escmación	
  	
  
1.  Del	
  efecto	
  que	
  sobre	
  el	
  PIB	
  local	
  cene	
  el	
  gasto	
  en	
  infraestructuras	
  
2.  El	
  efecto	
  que	
  sobre	
  la	
  produccvidad	
  del	
  capital	
  privado	
  cene	
  el	
  capital	
  

público	
  autonómico	
  

�  Cómo	
  se	
  soluciona	
  el	
  problema	
  de	
  la	
  externalidad?	
  	
  
�  La	
  inversión	
  en	
  una	
  región	
  puede	
  beneficiar	
  más	
  a	
  una	
  región	
  
colindante	
  que	
  a	
  la	
  propia	
  región	
  que	
  hace	
  la	
  inversión.	
  
¡  Sesgo	
  a	
  la	
  baja?	
  
¡  Menor	
  inversión	
  que	
  la	
  cancdad	
  ópcma	
  en	
  un	
  proceso	
  descentralizado?	
  
¡  Sesgan	
  las	
  autonomías	
  sus	
  proyectos	
  hacia	
  aquellos	
  que	
  menores	
  

“desborden”	
  generan?	
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�  Otro	
  aspecto	
  muy	
  relevante	
  de	
  la	
  invescgación	
  de	
  la	
  
profesora	
  Mas	
  es	
  el	
  énfasis	
  en	
  la	
  inversión	
  en	
  IT	
  

�  Esta	
  es	
  un	
  área	
  fascinante	
  y	
  de	
  primer	
  orden	
  para	
  
entender	
  los	
  incrementos	
  de	
  produccvidad	
  
¡  Hay	
  algo	
  de	
  evidencia	
  que	
  el	
  diferencial	
  de	
  crecimiento	
  de	
  la	
  
produccvidad	
  entre	
  EE.UU.	
  y	
  Europa	
  se	
  debe	
  precisamente	
  a	
  la	
  
adopción	
  de	
  dichas	
  tecnologías	
  de	
  la	
  información.	
  

¡  Pero,	
  por	
  qué	
  las	
  empresas	
  europeas	
  son	
  más	
  lentas,	
  o	
  lo	
  han	
  sido	
  
históricamente,	
  a	
  la	
  hora	
  de	
  adoptar	
  dichas	
  tecnologías?	
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�  La	
  especificación	
  de	
  la	
  función	
  de	
  producción	
  es	
  esencial	
  
para	
  entender	
  el	
  papel	
  de	
  IT	
  

�  La	
  función	
  de	
  producción	
  “tradicional,”	
  Ak,	
  es	
  
probablemente	
  una	
  versión	
  excesivamente	
  reducida	
  

�  IT	
  modifica	
  la	
  produccvidad	
  porque	
  permite	
  el	
  
apalancamiento	
  ópcmo	
  del	
  capital	
  humano	
  en	
  las	
  
empresas:	
  
¡  Resuelve	
  problemas	
  tradicionales	
  de	
  coordinación	
  y	
  adaptación	
  que	
  
el	
  sistema	
  jerárquico	
  de	
  organización	
  resolvía	
  mediante	
  la	
  
especialización	
  y	
  la	
  rigidez.	
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�  La	
  función	
  de	
  producción	
  puede	
  ser	
  

Donde	
  i	
  corresponde	
  al	
  agente	
  i	
  que	
  cene	
  bajo	
  su	
  control	
  
una	
  serie	
  de	
  accvidades	
  t	
  
	
  
�  Este	
  es	
  un	
  cpo	
  de	
  función	
  de	
  producción	
  con	
  el	
  que	
  
trabajan	
  los	
  invescgadores	
  en	
  el	
  campo	
  de	
  teoría	
  de	
  
organizaciones	
  (por	
  ejemplo,	
  Dessein	
  &	
  Santos,	
  JPE,	
  
2007)	
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�  Resultado:	
  
¡  La	
  adopción	
  de	
  tecnología	
  de	
  información	
  depende	
  de	
  la	
  capacidad	
  
de	
  reorganización	
  del	
  proceso	
  de	
  producción.	
  
÷ Complementariedad	
  entre	
  inversión	
  en	
  IT	
  y	
  organización	
  del	
  trabajo	
  

¡  Cualquier	
  rigidez	
  en	
  el	
  sistema	
  puede	
  bajar	
  dramáccamente	
  los	
  
retornos	
  a	
  la	
  inversión	
  en	
  IT.	
  

¡  Nuestras	
  rigideces	
  en	
  el	
  mercado	
  laboral,	
  administracvo	
  como	
  un	
  
impedimento	
  a	
  la	
  adopcion	
  de	
  las	
  nuevas	
  tecnologías	
  de	
  la	
  
información	
  


